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2016

ECONOMICS
( General )

Paper : 6.2

( Planning and Development in India )

Full Marks : 80

Time : 3 hours
The figures in the margin indicaté full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following as directed :  1x10=10
o fraTeR frofarpis e fm -

(@) Why is India called a developing
economy?

SRETT Ry @3 S S el = 2
(b) Define economic planning.

e ek e i |

(¢ When was the Planning Commission of
India constituted?

SR RFEA W Fhom v 4 02T 2
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(2)

(d) Mention one of the main objectives of
Twelfth Five-Year Plan of India.

SR AP AHRIRSE RFEAR GO 7 T
a0 '

) What do you mean by globalization?
Reamm A1 iR et B o2

(/) When was economic reform in India
started?

TRES @ TS HASE IR WS I 2
e 2

(g9 What are the numbers of member
countries of GATT in 2014?

2058 5@ GATT-T 7% B9 kM A= 2

(h) What do you mean by FDI?
grors (et R e &6 3@ 2

(i) In which year decentralized planning in
Assam was introduced?

TS @F e AREIR R
tafRE 2
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(3)

() The head office of North-Eastern
Council is located in which State?

Teg-o@ ARvw I IEEm @A [T
w_ES ?
2. Answer the following questions : 2x5=10
weTe i enpipRe e fi '
(a) Mention any two prime objectives of
economic planning in India.

S wRARE ARTER R P 5(31 bR
%zw‘ TEY I ] )

(b) Mention two main ;)bj_ectivés of
decentralized planning in Assam.
R Reige ﬁﬁ?‘ﬁﬂﬁ @1 PRI R
9

(c) Mention two negative aspects of New
GATT Arrangement for India.
T GATT IWTS SRS TPl AT
w@ER Ry s w4 |

(d) What do you mean by SGSY? Mentlon
two objectives of it.

SGSY WA & 7 WA P Crwn SoE
¥q1

(e) Why is Indian economy considered as
mixed economy?

SReE wdAfes Fw fi mﬁﬂ* ® Qe = ?
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(4)

3. Answer any four of the following questions :
_ : . 5x4=20
wers fral R e wifkbr e S firan

(a) What are the basic features of Indian
' economy as a developing one?

T W Ronet SRe WA
GBI 6 2

(b) Analyzé the salient features of India’s
Five-Year Plan. ‘

9 F91 1

(c) Analyze the process of resource
mobilization under different plans in
India. '

TRy RSy ARFFIERS oM sy [Aicy
IIER R SCaw 341 |

(d) What is PMGSY? Mention any two
objectives of it.

PMGSY 1t & %1 ? TR R @11 151 Srweyy
SCER 90

(e) Discuss the functions of NEC.
TeI- o “IRAE IRRER SCEH F97 |

Al6/407 ( Continued )



(5)

() Discuss the objectives of Look East

Policy.
901
4. Answer the following quesﬁons : 10x4=40
OoT Al TR eq i

(a) How are the strategies and goals of
economic p‘lanning in India changed in
the post-liberalization period? Explain.
AT HFRA *RAS! TS Sy HLARE
AR T A PP GRS
(X, A 41 |

Or /. 7%
Describe the achievements of planning
in India in the post-liberalized era.

TS TAFINR 970 RIS ARFENR
STFeTo] 7N 91 |

(b) Examine new trade policies followed
during the reform period in India.

HAAGE A IO SRS AT F TG
e Rfesayz scam 41 |
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(6)

Or / &

Explain the emergence of WTO and
India’s gain as a founder member.

WTO-3 & $ AfosoF o7 2o ooy
O] AT 41 |

(¢ Describe the poverty alleviation
programmes implemented by the
_ Government of India. =
SRS IR T Pefffe wRgel R
ST 3efe <4 |

Or / A%

What do you mean by the concept of
poverty? Explain the incidence of poverty
critically. 7

wREeE 4R o il i | wiREeR AKArST
R STCABAAS S 90 |

(d What are the importances of
decentralized planning in India and
what are its consequences?

TRes ReEge RIFTR o3 & o TR
FARFTR ¥ 7

A16/407 ( Continued )



(7))

Or / %1

Give the arguments in favour of
privatization of industries in Indian

economy.
sRoN wdAfoe TR AfSTSFIR oI
e a1

* Kk %k
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